Chemist-Mine and Geology Deptt 2015, Exam Date: 23.04.2018

Ques # 1 (English)

Which of the following does not represent ground state electronic configuration of an atom ?
A) 15225%2p® 352 3p°3d® 4s°

B) 1s%2s®2p® 3s? 3p®3d°® 452

C) 1s?2s?2p® 3s? 3p°3di®4s?

D) 1s?2s”2p°® 3s? 3p°3d° 4s!

Ques # 1 (Hindi)
frrafaf@a & & Flear ooy F1 7o sravwr F seFcias Reard F1 SRk 78 #yare ?

A) 1s5?2¢% 2p® 3s? 3p®3d® 4s?
B) 1s?2s%2p® 3s? 3p®3d°4s?
C) 1s22s?2p® 352 3pf3d@4s!
D) 1s22s?2p® 3s? 3p®3d° 45t

Ques # 2 (English)
Out of the following pairs of electrons, the electron pair present in degenerate orbitals is -
(@n=3,1=2m=-2s=—

(b)n=3,1=2m=-15=>
{H}TL:S, I=1,m=1’ S=—|—$
B)
{b}n:3,3=2,m=1’5=+_

{E}?‘l:-‘-l-’ I=1,m=1’ g=4=

C) 1
(b) n=3,1=2 m=142s=—"

[E}TLZSJ Ezzrm:+2; S:_i
D)
(b)) n=3,1=-2, m=+42, .5‘=+2E

Ques # 2 (Hindi)
forefafla gaweia 7ol & & arqerse warsi & suftwa g7 ¢ -



{b}n:3,I22’m2—1’S:_§
B)

(b) n=3,1=2, m=1,s=—|—$

{H}?’l=-‘-1-’ I=1,m=1’ S=_|_zi
C)

{mﬂ=&f=2Jﬂ=+ls=—$

[ﬁn=&3=zmn=+ls=_$
D) 1
b)n=3,1=-2 m=+2, s=+-

Ques # 3 (English)

Magnitude of covalent radii of elements does not depend upon -

A) Effective nuclear charge

B) Principle Quantum number

C) Spin Quantum number

D) Multiplicity of the bond between the atoms

Ques # 3 (Hindi)
dcal Y Feaders Rt T A AR AdT Far e -

A) THTAT AT 3TaT I

B) HTY FdicH AT

C) YIShUT FaicH H&IT I

D) TRATII3 & HEF HTeer Tghall T

Ques # 4 (English)

Which of the following statement is correct for the radii of various species having the same nuclear
charge but difference oxidation states -

A) Increases with the increase in the oxidation number of the species.

B) Decreases with the increase in the oxidation number of the species.

C) May decrease or increase with the increase in the oxidation number of species.

D) Does not depend upon the oxidation Number of species.




Ques # 4 (Hindi)

frrafaf@a & @ Flawr Fuer gateT afddrr smder Weq Bee rdiaor arard w@a ara Paehs #r
et & Rrad -

A) RIS T 3iTrfIRTOT 37eh d6ot TW TG & |

B) TETeiisT 1 JHTFHIaRuT 31 S T el ¢ |

C) TETfST T HTFHHIUT 3ih §Ga1 IR TC AT §¢ Thall ¢ |

D) Teqefiet & 3iTereflenyor 37k TR Ve T8l e ¥ |

Ques # 5 (English)

Which of the following element has highest negative value of Electron affinity ?
A F

B) CI

C) Br

D) I

Ques # 5 (Hindi)
frrafaf@a 7 @ frw aca At sATiar SYAT FT AT ITadH HOMCHSF ¢ 2

A)F
B) ClI
C) Br
D) I

Ques # 6 (English)
The false statement about the Schottky defect is :

A) This sort of defect occurs mainly in ionic compounds.
B) Cordination number in such compounds is usually low.
C) Positive and negative ions are of almost similar size.
D) NaCl shows this type of defect.

Ques # 6 (Hindi)
Tich! IR F AT Iwmcar Fya ¥

A) 8 R T JiE HEIAAT 3 Toteh FaTehl & qraiy St & |
B) 38 YR & I3l & TH-aT TEIT ATYROTIAT fo3e=T BT ¢ |

C) TeATcH 3R FKUTTcHS T oTITHIT FHTT IS H 8l & |



D) NaCl $8 9ehRR st Jfe gaifelr & |

Ques # 7 (English)

Which of the following has pyramidal shape ?
A) H;0*

B) SFs

C) BCl;

D) COs*

Ques # 7 (Hindi)
frafaf@a 7 & e argfa Rufadar g -
A) H;0*
B) SFa
C) BCl

D) cos*

Ques # 8 (English)

According to molecular orbital theory bond order of H,, H," and H,™ are respectively :

A) 05,1.0,15
B) 1.5,1.0,05
C) 1,05,05

D) 05,05, 1.0

Ques # 8 (Hindi)
IMOTiaeh FaTeh FeHid & T8R Hy, H, Td Hy # SeUshd A §

A) 05,1.0,15
B) 1.5,1.0,05
C)1,05,05

D) 0.5,05,1.0

Ques # 9 (English)

Which of the following Coordination complex has square planar geometry ?
A) [Ni(CO).]

B) [?_'n{NH3}4]2+



C) [Hell"
D) [Pt(NH;)]*

Ques # 9 (Hindi)

freafaf@a & & e sqweaaish dFa H safard oot gaae g 2
A) [NI(CO)]

B) [Zn(NH;).]*"

C) [Hgll
D) [Pt(NH:).]**

Ques # 10 (English)
Which of the following ion forms colourless complex ?

A) Ti**
B) Co**
C) Co*
D) Ti**

Ques # 10 (Hindi)

frafaf@a & @ Fleaar e Fréla FFa qararg ?
A) Ti**

B) Co**

C) Co*
D) TP

Ques # 11 (English)

Which of the following is outer orbital octahedral complex ?

A) [PdClL]*
B) [Ti(H,0)]**
C) [Fe(CN)e]*
D) [CoF¢]*

Ques # 11 (Hindi)
farafaf@a # @ Flaar aEIFaTH FTHART HFA ¢ 2

A) [PdCl]>
B) [Ti(H,0)s]**



C) [Fe(CN)s]*
D) [CoFg]*

Ques # 12 (English)
Which of the following lanthanide does not occur in nature ?

A) Promethium
B) Cerium

C) Gadolinium
D) Neodymium

Ques # 12 (Hindi)

fmfaf@a # @ slaw dedaiss v fa A urcr gt 8 2
INEIGIERE:

B) d@iRT#

C) ASrenfaas

D) RGRIEEIGRE]

Ques # 13 (English)

Magnetic moment of transition elements may be calculated from following equation :

A) piy= V2SS+D+ L(L+1)

C) mssny= V25 (S+2) + 2L (L +2)

D) pesspy= VA4S (S+ 1)+ L(L+1)

Ques # 13 (Hindi)
HHAT TAeal T Fradhi ITeoT fefaf@ed aeieor ¥ aRefod R srar g

A) Uiy = 2SS+ + L(L+1)

B) Wssny= V4S(S+2)+ L(L+2)

C) Mssny= V25 (S+2)+ 2L (L +2)

D) pesspy= VA4S (S+ 1)+ L(L+1)

Ques # 14 (English)



Which of the following is not the property of a solution formed by alkali metal in liquid ammonia ?

A) The colour of solution is blue.

B) The colour of the solution is independent of the metal involved.
C) Itis diamagnetic in nature.

D) It conducts electricity.

Ques # 14 (Hindi)

ga s # 61N a1 ¥ 99 Reae f PrafafRa A F Fraoradid 2
A) et 1 WA giar g |

B) Tarerarat T TaT Yol &) TR f3eR 18T il § |

C) IE Yepid # widdashg gIan g |

D) g Tl o1 HTelel HATE |

Ques # 15 (English)
Which of the following is not a point defect -

A) Schottky defect

B) Frenkel defect

C) Metal excess defect
D) Edge dislocation

Ques # 15 (Hindi)

fovesr & & e v g Qv ardi 5 -
A) efeHr ey

B) thahveT Gy

C) T e ary

D) UR T Ay

Ques # 16 (English)

Which of the following statement is not true

A) The subsidary quantum number describes the shape of the orbital.
B) For | =0, the shape of the orbital is spherical.

C) For | = 1, the shape of the orbital is dumbell shaped.

D) The subsidary quantum number describes the energy of the orbital.

Ques # 16 (Hindi)



T 7 O Flaar FYT IWT &

A) 0T SFaTCH T ETERT B TR o e |
B) | =0 & ToIT &haTeh sl 3Tehfcl TN Bl & |

C) | = 1 %heTeh I 3MTpfel SFerel S @I & |

D) 70T SFaTeH HEAT HaTh! H Foil T § |

Ques # 17 (English)

Which of the following ion has an electronic configuration similar to Argon ?

A) TiF
B) Ti?
C) Ti?
D) Ti*

Ques # 17 (Hindi)
T & ¥ FITA 3TIT FT STl (eI 30T F FAT ATE -

A) Tif
B) Ti*?
C) Ti*?
D) Ti*

Ques # 18 (English)

Which of the following member of Lanthanoid series is commonly found in +4 Oxidation state ?

A) Promethium
B) Samarium
C) Europium
D) Cerium

Ques # 18 (Hindi)
A=AATEE Aft FT FITHAT ETT FTATITAT +4 ATFEHIOT HTEAT H IIAT AT & 2

INEIGIEEE:]
B) dARIH
C) WA
D) diR@rH




Ques # 19 (English)

Arrange the following complexes in increasing order of wavelength absorbed
[Co(H;0)¢]"*, [Co(NH3)e]®, [Co(CN).]*

A) [Co{H,0):]"* = [Co(NH;)]™® > [Co(CN).]?
B) [Co(CN).]®> [Co(NH;):]** = [Co(H,0)]**
C) [Co(NH;)e]™® > [Co(H;0)s]™> [Co[CN):]?
D) [Co(H;0)s]"* > [Co(CN)s]*> [Co(NH5)s]™

Ques # 19 (Hindi)
foteT Epell 1 qEGEd JH@ANUT & a6 FH A gaedd HIfoT |
[Co(H,0)s]%, [Co(NHs)e] , [Co(CN)]*

A) [Co(H,0)¢]** > [Co(NH;)s]** > [Co(CN)s]?

B) [Co(CN)e]*> [Co{NH:)s]** > [Co(H,0)¢]*

C) [Co(NH;)]** > [Co(H,0)s]*> [Co(CN)s]*
D) [Co(H,0)s]™ > [Co(CN)s]*> [Co(NH3)]™

Ques # 20 (English)

The crystal field splitting energy for Octabedral complexes A_and tetrahedral complexes
A, can be related as

A A= - A

| ek

o

Ques # 20 (Hindi)
schelshId Hepell 1 Tohteel & faurest FaiT (A,) T adeherha
Hepell & foFFceli & fadiest Fa1 (A,) @ foiee yaR Hafaa &
ST Thell & -

A) ﬂ‘tz zﬂa



B) ﬂtz _ﬂo
C) A, = 2A,
D) ﬂog _ﬂt

Ques # 21 (English)

Example of Aprotic solvent is :

A) CgH,
B) HF
C) NHs
D) H,0

Ques # 21 (Hindi)
ifes faamas &1 3geIoT

A) CgH,
B) HF
C) NH;
D) H,0

Ques # 22 (English)

Which of the self ionisation reaction of the following solvents is not correct -
A) H,0+ H,0 = H;0" + OH-

B) NH;+ NH; = NH, + NH;

C) SO, + S0, = SO™+ 50,

D) HF +H;F; = HyF" + HF”

Ques # 22 (Hindi)
Arfaf@d s Y FTad: 3raas A fFRIt F @ Fiad aRfFam s a1 e -

A) H,0+ H,0 = H;0" + OH-
B) NH;+ NH; = NH;" + NH;"
C) SO, + S0, = SO™+ S0,
D) HF + H;F; = HyF" + HF,”

Ques # 23 (English)
Nature of HCIO, in anhydrons H,50, is :



A) Weak acid

B) Strong acid
C) Weak base
D) Strong base

Ques # 23 (Hindi)
3TSTel H,50, # HClO, &1 9l § :

A) GN ol 3TFT

B) Weel 31FcT

C) geleT &R

D) eel &TR

Ques # 24 (English)

Which one of the following is not a Conjugate Acid-Base Pair ?
A) NH,;" and NH;

B) HCland CI

C) H,S0,and SO~

D) H;0%and H,O

Ques # 24 (Hindi)
frrafaf@a & sla dgeift sra-am e et § 2

A) NH." 3T NH,

B) Hcl3fRcr

C) H,S0, 3 s0,>
D) H,0" 3 H,0

Ques # 25 (English)

Which one of the following is a Lewi's Acid ?
A) SiF,

B) PCl,

C) NH:

H
D) HH‘“; NN,

Ques # 25 (Hindi)



PR o @ #l b s ¥ 2
A) SiFs
B) Pl
C) NH;

H
D) HH““; NN,

Ques # 26 (English)

Which of the following Non aqueous solvent is considered as most "Water-like' non aqueous solvent -
A) liquid NH;

B) liguid SO,

C) liquid N;O,

D) liquid HF

Ques # 26 (Hindi)
ot ¥ ¥ Flerar AereNT-faaas gad 310« ' oI F AT AT AR -

A) GaNH,
B) &S0,
C) @d N0,
D) & HF

Ques # 27 (English)

Choose the false statement among the following :

A) Hard acids have acceptor metal atom of small size.
B) Soft bases have acceptor metal atom of large size.
C) Soft acids have acceptor metal atom of large size.
D) Hard bases have atoms of high electronegativity.

Ques # 27 (Hindi)
fArafaf@aT & ¥ 30T YT F1 977 A

A) FHOR 37Fel H T TSl o RN T AT B ¢ |
B) g &TR # &I H1S T & FTEY 1] TATT B & |
C) #g 3Fal 7 &I WIS & ATET T AT EIeT ¢ |
D) F3R &TR # 3¢ fIegd HOTal & WA g & |




Ques # 28 (English)

Which of the following is a soft acid
A) BF;

B) BH;

C) GaH;

D) SO

Ques # 28 (Hindi)
frfaf@a A Flaaragawae -

A) BF;
B) BH
C) GaH;
D) SO,

Ques # 29 (English)

Which of the following is not a method for concentration of ores
A) Leaching

B) Roasting

C) Hydraulic wash

D) Magnetic Separation

Ques # 29 (Hindi)
RARfRad a sl s FagurH R adig
A) TerersT

B) $Toial

C) Steraia giaeT

D) TFeehId JUFHIOT

Ques # 30 (English)

In Ilkovie Equation
1 2 1

I; = 607 n D2 m3 té c . the units of concentration ‘c’ are -

A) moles per litre

B) millimoles per litre

C) micromoles per litre

D) gram equivalent per litre



Ques # 30 (Hindi)

Seehlfdeh THTRLOT

1 2 1

I; =607nD2 m3 tec & digdl ‘c &I HE &
A) #Arel 9fd eiex

B) fAeNATer ufd ellex

C) ASshIAT gfd elieX

D) ITH Jersh 9fd elleX

Ques # 31 (English)

Which of the following is not the ore of copper ?

A) Copper glance
B) Malachite

C) Cuprite

D) Siderite

Ques # 31 (Hindi)
fAmfaf@a & @ slaar g F1 3w adi g ?
A) ST TeTH

B) Heldse

C) FguTST

D) fastse

Ques # 32 (English)

The Process of leaching is not useful for the concentration of ores of the which metal from following?
A) Al

B) Cu

C) Ag

D) Au

Ques # 32 (Hindi)
fovatrerer qanr wigor A whFar i@ & @ R arg & sraes & e s agi g 2

A) Al
B) Cu



C) Ag
D) Au

Ques # 33 (English)

Zinc can not be obtained from the following ore -

A) Calamine
B) Zinc Blende
C) Zincite

D) Malachite

Ques # 33 (Hindi)

frrafarla # Riw urqg fra 3aes @ e gt T s asdt ¢ -
A) HIHATST

B) Tl soius

C) fSiarse

D) Helehrse

Ques # 34 (English)

Which of the following is not the method of refining of extracted metal -
A) Distillation

B) Electrolysis

C) Chromatographic methods
D) Leaching

Ques # 34 (Hindi)

et 7 & wlerelt Ry s urq & yfasor & st g o s d -
A) ITHaA

B) degdl 3qErest

C) sIACIITheh deheileh

D) faefrerst

Ques # 35 (English)

Copper metal is refined by using the following method -

A) Vapour phase refining
B) Electrolytic refining



C) Distillation
D) Chromatographic method

Ques # 35 (Hindi)

FIR 4T FT YRGFT Prfaf@a & ¥ Bra Rftr garr frar s -
A) aTsT AT Y fEehIoT

B) dedd 3rquey fgehior

C) 3mad«T

D) shiHCEthe dheileh

Ques # 36 (English)

Ellingham diagram shows :

A) Change in Entropy with temperature for metal-metal oxide reactions.

B) Change in Free energy with temperature for metal-non metal reactions.
C) Change in Free energy with temperature for metal-metal oxide reactions.
D) Change in Enthalpy with temperature for metal-metal oxide reactions.

Ques # 36 (Hindi)
forEH 3INE AT

A) -8 3HTFATSS ATATHITIT & TrT a1 & AT Teghdr TRachT i |
B) €ITq- 37eIT] JTATHATT & Torw aTd o AT Ferel Fioft IR a1 |

C) urd-anq JHterarss HfATHAT3 & fow arg & |rer Herd ol aRade & |
D) ©ITe]-&ITq] 3iTerarss i3t & forw ara & aryr oe et aRace i |

Ques # 37 (English)
Which one of the following is acidic flux ?

A) FeO
B) SiO;
C) caO
D) MgO

Ques # 37 (Hindi)
fRRT A aslaar sl mas g ?

A) FeO



B) SiO,
C) CaO
D) MgO

Ques # 38 (English)

Which of the following metal is generally purified by zone refining method ?
A) Ge

B) Al

C) Cu

D) Ni

Ques # 38 (Hindi)
farafaf@a & & Fiad arq wremoraar #se aRvwor fafer ganT g A @ 2

A) Ge
B) Al
C) Cu
D) Ni

Ques # 39 (English)

Ordinary steel is not corroded by :

A) Moist Chlorine

B) Chlorine dissolved in water
C) Dry Chlorine

D) Dilute HCI

Ques # 39 (Hindi)

AT el e garT et A8 grer g 2
A) FHIGEF TR

B) STel # el §3 Feildlel

C) s FeARIe

D) @ HCl

Ques # 40 (English)

Environmental factor which affects the rate of corrosion is :

A) Purity of metal
B) Flow velocity of the solution in contact with metal



C) Volatility of corrosion products
D) Nature of oxide film on metal

Ques # 40 (Hindi)

TETROT Y &T & yIfad F ITelT TR FRF §
A) 9T T Y&dT

B) 1] & H&9eh alel TaeleT T JaTg ddT

C) T&TRT 3c4Ter sl arsaefierdr

D) ©T] TR =it 3T aTgs fthed T gepfd

Ques # 41 (English)

Potential-pH diagram for a corrosion phenomenon is known as :

A) Tafel Plot

B) Pourbaix diagram
C) Ellingham diagram
D) Stark diagram

Ques # 41 (Hindi)
HETROT IREeAT ¥ {9a-pH 3N Fgadarg

A) THA TlC
B) UReFH IRY
C) Tielgd 3@
D) ¥ 3R

Ques # 42 (English)

Corrosion rate is expressed as

534W

mPY =2
DAT

Where A is -

A) Areaof specimen in cm?
B) Areaof specimen in mm?®
C) Area of specimen in inch?

D) Areaof specimen inm?’

Ques # 42 (Hindi)



TeTRUT GT ehad & oI &

534W
mPY =
DAT

S8l A

A) cm? HA THT FH &AH
B) mm? H Hsl HI &TFABHA
C) inch? # &FHA H &IFAB
D) m? # oIHel I &AHH

Ques # 43 (English)

Galvanization is the process of -

A) Coating Zn on Fe
B) Coating Sn on Fe
C) Coating Snon Cu
D) Coating Mg on Fe

Ques # 43 (Hindi)
Areafaator Hrufsear 7 -

A) it e TR e a1 & R e § |
B) iig &1 W T &7 & IRl TeTel § |
C) IO YT T e 1] Y e T & |
D) wilg &1 TR AFARITH 1 i e Fgre € |

Ques # 44 (English)

Which one of the following can not be used as sacrificial anode to protect iron from corrosion ?
A) Ni

B) Mg

C) Al

D) Zn

Ques # 44 (Hindi)
oIg T FETROT ¥ WA FI 8 Aeafaf@a & & sla scweit ¥as & 30 & ygaa a1t fhar smawarg 2

A) Ni
B) Mg



C) Al
D) Zn

Ques # 45 (English)

Which process is used in the desilverization of lead by Zinc ?

A) lon Exchange

B) Solvent Extraction
C) Amalgamation

D) Distillation

Ques # 45 (Hindi)

TSI g o & Raerae & #ia a1 v w3y R Srar § 2
A) 3 fafaa

B) faemae forseryor

C) IRceT

D) 3THasT

Ques # 46 (English)
The term "Eutrophication’ is related to

A) Air Pollution

B) Water Pollution
C) Soil Pollution

D) Thermal Pollution

Ques # 46 (Hindi)
JeIfper ' rafafad & ¥ fred wefta d -

A) T ST
B) STel FgNoT
C) FaT oo
D) T Ye¥or

Ques # 47 (English)

The component with least percentage in mineral soil is

A) Mineral matter
B) Oraganic matter



C) Soil Water
D) Soil Air

Ques # 47 (Hindi)

@ferst {eT & werad gfaeraararar acs ¢ :
A) Gfast gerd

B) Sid geg

C) HeT S

D) T A

Ques # 48 (English)

The uppermost horizon of soil profile is called:

A) Horizon A
B) Horizon B
C) Horizon C
D) Horizon O

Ques # 48 (Hindi)

T YIPTSe HT HGH I 1T HEA FEATdAT o -
A) TERA

B) TFX B

C) §&R C

D) §ER O

Ques # 49 (English)

The usage of ammonium nitrate :

A) Increases pH of the soil

B) Decreases pH of the soil

C) Does not affect pH of the soil
D) Increases alkaline nature of soil

Ques # 49 (Hindi)
AT ATSET FT 3YANT

A) FET & pH ST & ¥ |



B) #&T T pH T &aT & |
C) F&T T pH T JeTIAd &S AT & |
D) #eT T &T Yehfc &l Ser ST g |

Ques # 50 (English)

Methemoglobinemia or blue baby syndrom in infants is caused due to excess of which of the following in
water

A) Sulphate

B) Flourides

C) Chlorides

D) Nitrates

Ques # 50 (Hindi)
AR a1 o 36 g Faoa A T A RRRT A I Fas o A dadard

A) "Hethe
B) FeIRISS
C) FeiRIss
D) #Ts¢e

Ques # 51 (English)

Sewage gas is mainly the mixture of :

A) CHyand S0,
B) C,Hsand CH,
C) CHsand CO,
D) CH;and NH;

Ques # 51 (Hindi)
?ﬁﬁﬁrhﬂ@ﬁ: raor g
A) CH, 3T s0,

B) C,H. 3T CH,

C) CH, 3T co,
D) CH, 3T NH,

Ques # 52 (English)



Out of the following ways of water lost from the soil, which is main cause of soil erosion ?

A) Surface runoff
B) Percolation
C) Transpiration
D) Evaporation

Ques # 52 (Hindi)

HeT § STeratd & fArafaf@a Tl & 7T JaeeT HT HET FROTE -
A) g1 g1

B) 37cT: a0

C) 9REOT

D) 3carsdel

Ques # 53 (English)

Which one of the following is macronutrient for plants ?
A) Zn

B) Cu

C) Mg

D) Mn

Ques # 53 (Hindi)
gt & fAvw afaf@a F & #la sya dws g 2

A) Zn
B) Cu
C) Mg
D) Mn

Ques # 54 (English)

The breakdown of organic matter by bacterial action into simple substances that do not decompose
further is called :

A) Hydrolysis

B) Dissociation

C) Stabilisation

D) Peptization

Ques # 54 (Hindi)



SFART ¥ gaRT o9 geT 1 T vyt A Guse ot R IR ARF A T @, FEaan ¥

A) STeT 3T9gc
B) faarsteT

C) TURATRIOT
D) UcéehioT

Ques # 55 (English)

The term used to indicate the degree of concentration of sludge is :

A) Sludge concentration

B) Sludge area index

C) Sludge volume parameter
D) Sludge volume index

Ques # 55 (Hindi)

37U Y HIGAT Y AT F T FIA ¢ TIFAIG ¢ -
A) 39 HigdT

B) 319 &IThel S d

C) 31T9eh 3T WA

D) 3T JAdd Seaad

Ques # 56 (English)

Which of the following is not an input device ?

A) Keyboard
B) Mouse
C) Scanner
D) Monitor

Ques # 56 (Hindi)
frrrfaf@a A q ' gorqe Bamw ' gt e -
A) HErs

B) AT3H

C) Thell

D) AleAlex



Ques # 57 (English)

Which of the following is not a part of CPU of a computer ?

A) Memory Unit

B) Control Unit

C) Optical Character Reader
D) Read Only Memory

Ques # 57 (Hindi)
fmafaf@a # & Fla srger A dr g, FTeameragi g 2

A) A e

B) Fvge I

C) 3ifteahar e 5T
D) {13 ileall HART

Ques # 58 (English)
OMR represents

A) Optical Mannual Reader
B) Optical Mark Recognition
C) Operator Mark Reader

D) Optional Mark Reader

Ques # 58 (Hindi)
OMR a1 % yefRia #yar ¢ -

A) 3fifCeahrer Hefarel JsT
B) 3fifCcarel AT Jhaaiiera
C) HTMReX A =T

D) 3iTceleTer ATeh I

Ques # 59 (English)
Which one of the following is the oldest high level computer language?

A) FORTRAN
B) COBOL
C) BASIC

D) PASCAL



Ques # 59 (Hindi)
T @ Fed W 35T T FEoger AT -

A) FORTRAN
B) COBOL
C) BASIC

D) PASCAL

Ques # 60 (English)
Which one is not a type of printer in a computer ?

A) Dot Matrix
B) Laser

C) Daisy Wheel
D) Scanner

Ques # 60 (Hindi)

FrgR A fRRT A Fla e FTusr adie 2
A) 3ic AfeFH

B) @&

C) Sl sgrel

D) EhelX

Ques # 61 (English)

Which one the following is not the auxillary or secondary memory of the computer?
A) Magnetic Tape

B) Floppy disc

C) Hard disc

D) RAM

Ques # 61 (Hindi)

frafaf@a & & Sl Frogex Fr wers ARR a1 gfadas ARd i e 2
A) JFEIHT T

B) Wolrdr f3&h

C) &5 f3r=

D) RAM



Ques # 62 (English)

Which one of the following correaltion is not correct

A) 1024 Bytes =1 KB
B) 1024 MB =1 GB
C) 1024GB=1TB
D) 1024 MB =1 KB

Ques # 62 (Hindi)
AT A F FlFaT e A AET &
A) 1024 Bytes = 1 KB

B) 1024 MB = 1 GB

C) 1024GB=1TB
D) 1024 MB =1 KB

Ques # 63 (English)

In a computer example of high level language is :

A) PASCAL
B) VGA

C) SVGA
D) OMR

Ques # 63 (Hindi)

FFYET A ITATALNT TN FT 30T 3
A) 9rEReT (PASCAL)

B) dISIIT (VGA)

C) THASIT (SVGA)

D) 3THAR (OMR)

Ques # 64 (English)
USB represents the following -

A) Universal Serial Bus

B) Uniform System Backup
C) Unique Software Bus

D) Universal Scanner Byte

Ques # 64 (Hindi)



USB fas=T & & fFd wefRia #xarg 2

A) Fiade diRTe 58
B) IfithiA FEcH Seh3rd
C) gfeieh HIFeaaR ad
D) gfeladiel Thell STSC

Ques # 65 (English)

Which of the following is not a web browser ?
A) Opera

B) Internet Explorer

C) Mozilla Firefox
D) Linux

Ques # 65 (Hindi)

A & @ Flaar g aEoR A e 2
A) 3TRT

B) Seeic TR

C) AT BRR®FT

D) dllsdad

Ques # 66 (English)

The correct order of a adsorption power of following adsobents for Column adsorption chromatography
is:

A) Sucrose < Calcium Phosphate < Charcoal < Alumina
B) Alumina < Charcoal < Calcium Phosphate < Sucrose
C) Sucrose < Alumina < Calcium Phosphate < Charcoal
D) Alumina < Charcoal < Sucrose < Calcium Phosphate

Ques # 66 (Hindi)
HIcTA IFTERNYOT HIATETH & foav Frafaf@a sfratvs Hr fRravor sTmar s adi v A ¢

A) TIHIE < HieRFH BIEhE < TR < Tog AT
B) UegiHeT < TNehIeT < HhicATH BIEHE < TJhi4
C) TIhIH < T AT < HioIH hIThe < TR




D) TegiHeT < TNehIel < TFhIE < o IH BIEhe

Ques # 67 (English)

Which gas is usually preferred as mobile phase in gas liquid chromatography ?
A) Helium

B) Argon

C) Neon

D) Oxygen

Ques # 67 (Hindi)
AT g7 FANEE F graRoraaT afaeie yrawr F w70 F S A F rafAwar s 2

A) giferas
B) 3T

C) = areT
D) 3fTerdietel

Ques # 68 (English)

Which one of the following is not a requirement for liquid stationary phase in gas liquid chromatography
?

A) It should be chemically inert toward the sample.

B) It should be of high volatility.

C) It should be thermally stable.

D) It should be a good solvent for the component of the sample.

Ques # 68 (Hindi)
3T ga FANTH # g7 R 19T yT & AT Arfaf@d & @ 41 dcd 39 d& TE e 2

A) Tg FHeT & 9 TA TN &G G 31T gIer =10 |
B) Ig 3 arsueiieldT arell gl aTfe v |

C) Ig ATy TR T AR |

D) Ig FAHA & Tceh & fav 3raT faeras gar @nfgu |

Ques # 69 (English)

Common hydrophilic solvent used as stationary phase in paper chromatography is :

A) Dimethyl formamide
B) Diethyl formamide



C) Aromatic hydrocarbon
D) Methanol

Ques # 69 (Hindi)
YT SHIACIATHT 7 YT a1 & T4 F IFd et it ofel famaht fyemra ¢ -

A) STSATAS HIHEATES
B) STEUTYA BIATHISS
C) WIATEH gI5gIhIeT
D) AT

Ques # 70 (English)

Coating material used in lon exchange thin layer chromatography is :

A) Unsaturated hydrocarbon
B) Ethanol

C) Polyphosphate Cellulose
D) Nitroglycerine

Ques # 70 (Hindi)
31T RfAFT e R AT 7 vy @1 arelT RAdae gqri ¥

A) 3THIC BISSIehTel
B) ¥dATe

C) UlelhIEhe Aolellst
D) AgeiFeradla

Ques # 71 (English)

Retardation factor (Rg) in paper chromatography is given by :

Distance moved by solvent from the original line

A) RF =

Distance moved by solute from the original line

Area covered by solute

B) Re=

Area covered by solvent

Distance moved by solute from the eriginal line

C) Re=

Distance moved by solvent from the original line

D) R¢= Distance moved by solvent — Distance moved by solute

Ques # 71 (Hindi)



UuY HIHCIATHT H HAgelhReh (Rerses theel) R, Gar Sirar ¢

e T ¥ Eee GanT od S gl

A) Ri=

e TN W Tl gan T o &I gl
B) R.=- oo T GO HTalied S9%
) oo gaw Aeae g SEn
e T ¥ T SaNT ol &I gl
C) RF=

HA TETH Sl SanT ad & glr
D) R, = TaeTIer carT o i 3T gl — faeiar qarT aa =i g

Ques # 72 (English)

In radial paper chromatography the shape of the paper is:
A) Square

B) Circular

C) Rectangle
D) Triangular

Ques # 72 (Hindi)

Frsar IR FACRITE 3 9uT Y e e ¥ -
A) THR

B) Jeaihk

C) 3TIATPR

D) e

Ques # 73 (English)
Anthophyllite is basically :

A) Silicate of Mg and Mn
B) Silicate of Fe and Co
C) Silicate of Mg and Fe
D) Silicate of Mn and Fe

Ques # 73 (Hindi)
tifreRe AT TR E

A) Mg 3R Mn & fafere
B) Fe 3iR Co &1 [afershe



C) Mg 3iR Fe =1 fRAforpe
D) Mn 3R Fe &1 faforhe

Ques # 74 (English)

Which of the following crystalline of Alumina is hygroscopic ?
A) a — Al,0,

B) 5 —ALO;

C) ¥ —AlL0,

D) Botha — Al,05 and y — Al, 04

Ques # 74 (Hindi)

Yefa &1 fArafaf@a F @ e e w7 srgarmé 2
A) a— Al,0,

B) B — Al,0,

C) v — Al 0

D) a— Al,0, 3Ry — Al,0; Gl |

Ques # 75 (English)

The approximate percentage of Al, 05 and Si0, in Mullite are respectively :

A) 50 % and 50 %

B) 90.5% and 9.5 %
C) 94.3% and 5.7 %
D) 71.8 % and 28.2 %

Ques # 75 (Hindi)

ABC A AlL0, 3R Si0, FT THIIET FAAT FAL: §

A) 50 % 31 50 %

B) 90.5 % 3{X 9.5 %
C) 94.3% 3R 5.7 %
D) 71.8 % 3iR 28.2 %

Ques # 76 (English)
Which one of the following is an example of Pyroxene ?



A) Diopside
B) Crossular
C) Olevine

D) Andradite

Ques # 76 (Hindi)
farafaf@a # @ slaar agadia w1 3gEIr g ?
A) STSACATSS

B) IR

C) 3reldrset

D) Tsglsc

Ques # 77 (English)

The massive and impure variety of talc is known as :

A) Albite

B) Anorthite
C) Steatite
D) Mica

Ques # 77 (Hindi)

& HT HEY U IHYE THT Fgerar g :
A) 3odTSe

B) 3-RAUTST

C) ¥Igerse

D) ATgehT

Ques # 78 (English)

A cation exchange resin does not contain :
A) Sulphanic group

B) Carboxylic group

C) Phenolic group

D) Ammonium group

Ques # 78 (Hindi)
TF A RAfaag ea g @arg



A) Fohifoeh THg
B) shrsifFdicls Gog
C) Preitfereh Tz
D) 3AfTH Tg

Ques # 79 (English)

When pH increases; the exchange capacity of :

A) cation exchangers decreases and that of anion exchangers increases.
B) cation exchangers increases and that of anion exchangers decreases.
C) cation exchangers increases and that of anion exchangers also increases.
D) cation exchangers decreases and that of anion exchangers also decreases

Ques # 79 (Hindi)
pH T&st I fafererr a1e7ar :

A) g fafaaAraes & gedt § 3R Homge Afadrgs fragdig |
B) aArdel fAfa#ATaes & gt & 3R FHomae AfdAraes S gedr g |
C) YeTreT TATAATIH Y dgcl § 3R FKomTet TAfAATTF Fr st Sg g |
D) =TT TafadATae r gedr & 3R Homa fafee e Fr 8 gedr g |

Ques # 80 (English)

The ion exchange resin should not have the following property

A) It must be sufficiently cross linked
B) It should have negligible solubility
C) It must be hydrophilic

D) It must be hydrophobic

Ques # 80 (Hindi)
frrafaf@a & & Flear aor smae Rfaww s Fradtgrard 2

A) TE 9T T & hiFeEeT Jard gleT 13T |
B) SHI faordar 90T gl & |

C) g STl TAE gleAT =RV |

D) I STer faqel gietr =i |

Ques # 81 (English)



Roman effect can be defined as -

A) Emission of light

B) Elastic scattering of light
C) Absorption of light

D) Inelastic scattering of light

Ques # 81 (Hindi)
A THTT Y TRATRT AT srar @

A) T & Scdold &

B) WehTRT fohTUTT ST T YehioTe
C) YohTer T 37aeNYOT

D) Gehrer fehoTT ST 3TcaTEL TehioTed

Ques # 82 (English)

In which region ESR Spectra is observed -
A) X-ray region

B) Radio frequency region

C) UV region

D) Microwave region

Ques # 82 (Hindi)
3TN, Ve rw g A af@agare -
A) X- foT g3

B) I3 aReT &t

C) UV &

D) HATSshidd &1F

Ques # 83 (English)

The vibrational rotational spectrum is observed in

A) near infra red region
B) microwave region

C) visible region

D) radio frequency region

Ques # 83 (Hindi)



Feae quier Viaea e 5 ¥ frw s d ofda aar g -

A) THYT HaFd &aF
B) ATSshida &1

C) T T & F

D) AT qeT & T

Ques # 84 (English)

Zero point energy of a diatomic simple harmonic oscillator of vibrational
frequency v is

A) hv
B) 0

Q) %fw

D) ihv

Ques # 84 (Hindi)
el v Frael IR arel T qIaIRATUIS IR gleleh @l qd fdg
FetT Bl § -

A) hv
B) 0

Q) %fw

D) ih’u

Ques # 85 (English)
Which of the following molecule is IR - inactive but Raman Active

A) Hcl
B) NH,
C) H,0
D) O,

Ques # 85 (Hindi)
farafaf@a & & wiawr 3 IR 3frg wReg wa afna @ -



A) Hcl
B) NH;
C) H,0
D) O,

Ques # 86 (English)

How many lines are observed in ESR spectra of Naphthalene negative ion -

A) 196
B) 5
C) 75
D) 25

Ques # 86 (Hindi)
AFINeT HUcAS AT & ESR Farer F faraet @ yred g & -

A) 196
B) 5
C) 75
D) 25

Ques # 87 (English)

" Q factor " in ESR is calculated as :

Energy stored in cavity
A) Q=

Energy lost

Energy lost

B) Q - Energy stored in cavity
Wave length absorbed
C) Q=
Wave length stored
Wave [ength storad
D) @ =

Wave length absorbed

Ques # 87 (Hindi)
ESRHA " Q FRF " I AT H AT &

Fieg # §aRd Fa1
A) Q= S—
_ _ EEFS
B) 0= Sseomass
) Q= HTea aior e

Hafga o aed



Hafga oo

D) Q= HaeTeT o oef

Ques # 88 (English)

The most extensively studied element in Mossbauer spectroscopy is :
A) Ni*t

B) CGEE

C) L

D) Fe*’

Ques # 88 (Hindi)
Alaak A 7 waifte Rrar & sregaa Frar s aenaca @

A) Ni®
B) CUEE
C) L

D) Fe”’

Ques # 89 (English)
The main disadvantage of Atomic Absorption Spectroscopy is :

A) It is rapid and requires only small amount of material.

B) It is highly specific.

C) Separate lamp source is required for each element to be determined.
D) Technique is more sensitive than emission flame photometry.

Ques # 89 (Hindi)
TIATTOIF JrayoT FAFFAHT (AAS) FTHAET AN :

A) Ig g & T 3HA Uere T 3769 ATAT T HTIThdT gl ¢ |

B) g 3 faRrse & |

C) Icdeh AT R STt aTel ded o folt 376TT ol Jid T 3TaLThdT gicll & |
D) 3cHTSI Feldl HICHHACT Y Jefel H I deheilen AR AT ¢ |

Ques # 90 (English)

How many types of hydrogens are present in the compound
CH;— CH, — O — CH, — CH; according to H' NMR spectroscopy ?

A) One



B) Two
C) Three
D) Four

Ques # 90 (Hindi)

IiffiF CH.-CH,-0-CH,—CH, & H'NMR TUScIERIdT &
ITER fhae 9FR & glegier ¢ ?

A) TH

B) ar

C) i

D) IR

Ques # 91 (English)

The cuvette used in UV spectroscopy is made of :

A) ThoO,
B) Quartz

C) 0Oxides of Rare earth metals
D) Oxide of Transition metal

Ques # 91 (Hindi)
UV T & wgaFa g1t arelt Qiftrer aalt et 8

A) Tho, &I

B) #Farcer

C) GetsT FeT Ut Jifrss 1
D) HHAUT 4T & HlFASs &l

Ques # 92 (English)

Generally which of the following is used as reference electrode in polarography ?

A) Dropping mercury electrode
B) Pt - electrode

C) Saturated calomel electrode

D) Standard hydrogen electrode

Ques # 92 (Hindi)



AR, R & Frafaf@e # & Fia desf gaiweis & 79 & vgaa Rrar smard 2

A) TSegurc ure solerels
B) Pt- Seledls

C) Hod ShellAel Selercls
D) HTeleh gIS3Itel Soldgls

Ques # 93 (English)
In Thermogravimetric Analysis (TGA) :

A) A graph is plotted between temperature and weight of the sample.

B) A graph is plotted between temperature and time.

C) A graph is plotted between temperature and volume of the sample.

D) A graph is plotted between weight and volume of the sample at given temperature.

Ques # 93 (Hindi)
ATIRIcA® faeayor (TGA) &/ :

A) JF9T F HR TG dTT & JAET A6 WHar ST |
B) THY 3R A9 & 7L U I WidT AT § |

C) QA+ & AT T AT & HET ATH Wil SATAT ¢ |
D) U I a9 WX AFTel o AR UG HIcleT o HET ITh Wi ST g |

Ques # 94 (English)
What is the differential temperature (AT) in Differential Thermal Analysis (DTA) ?

) It is the temperature difference between sample temperature and temperature of thermally inert reference
material.

B) Itis the difference of temperature of sample at two times.
C) Itis the difference of initial and final temperature of sample.
D) Itis the difference of temperature of two samples.

Ques # 94 (Hindi)

faedT Fea Tagewor (DTA) & @9dT 9 (AT) FaT1 § ?
A) Ig JFI TG dTdrT 3fohT ot Tered & draehad! &l el ¢ |
B) IE &I THIT 9T JFTel oh dTIha! T el ¢ |

C) I Il & YR A Td HTIH araehaf§ T =R ¥ |




D) I &Y QFTcil & aTgehaf i Il & |

Ques # 95 (English)

In a thermometric titration, the graph is plotted between :

A) Time and temperature of solution.

B) Time and volume of solution.

C) Temperature of solution and volume of titrant.
D) Volume of titrant and heat of solution.

Ques # 95 (Hindi)
arafArdr sregaATaeT F I S srare

A) THT U9 [qd & a9 & q&T

B) THT UG TqeTdel & 3] o #ALT

C) faeraet & AT Ud 3TATIS o A & ALY

D) 3TeIHTYS & ATl Ud {qerdet S AT & 7eg

Ques # 96 (English)

Which of the following equation for the peak area A in DTA is true ?
A A=xAHmMK

B) A=+AHmK

) A=+i“::m
D) A=_ﬂf:{m

Ques # 96 (Hindi)
DTA # RIER ahawa A & faw Srafafa aedfiworaea € -

A A=+ANHmK
B) A=+AHmK

Q) A=+ﬂ";m
D) H=_ﬂf:fm

Ques # 97 (English)

Closeness of a measurement or a set of measurements to the true value or accepted value is called :

A) Accuracy



B) Precision
C) Absolute error
D) Relative error

Ques # 97 (Hindi)
farelt ATt AT AT W A aEafdE A A1 FFT AT fAwedT FEard ¢

A) FUTEAr

B) aRergdr

C) fader Ife
D) 3mafare Jfe

Ques # 98 (English)

The standard deviation is represented by :

Y(x—%)*2

n—1

A 5=

B) S=)Yn—1(x—x)?

0 5= [2e

Ques # 98 (Hindi)
ATF Aadd F AR d yeR A weRiaFrasa §

T(x—%)*

n—1

A S =

B) S=XYn—1(x—x)?

C) ¢ — Y(x—x)*
n—1
D .S'—E(x_ﬂIz
) 2T T

Ques # 99 (English)

Zero is not the significant figure in the following :



A) 1.2680 g
B) 1.0062 g
C) 0.0025 g
D) 1.059 g

Ques # 99 (Hindi)
frrafafaa & & frw vfdr F oo ards s a1dit @

A) 1.2680 g
B) 1.0062 g
C) 0.0025 g
D) 1.059 g

Ques # 100 (English)

If S is the standard deviation X is the arithmetic mean then coefficient

of variance (cv) is represented as :

a = 100
v =
A) S
&= 100
B) cv=—no
X
x5
C) cv =
100
i+ 5
D) cv=
100

Ques # 100 (Hindi)
g S AR fageel, X Jhaiurdia Ared gl al TEIoT [0 (cv)
fear Sar &

x =100
5
5= 100

X

A) cv =

B) cv=

r=5
100

C) cv=

D) cv=

100






